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piEEMORE—REXR
MO RERICEBT 21LAIBREICS T 2HEEE. QRO ORAUBEICHASh2EMTH S,

BERE | S%BN — -
No. s % s | e | BERE | SFAE | s | max (fj; (2;)
(Exm) | EFE) | @) (2) i
1{REP S ) 32 0 32 18 50 3
2|FEM M = 15 0 15 35 50 3
3|maW L = 2 0 2 68 70 -
AFREW LL = 3 0 3 67 70 -
5|FEM 3L = 7 0 7 63 70 10
6|7 ws oy b M 2 0 2 78 80 -
UE:s=0Y2) S LN — =1 0 25 25 0 25 -
8|V TR b R—F (fFER) 1@ 2 0 2 18 20 -
9|5 ALK 500ml PIS 3 0 3 1 4 -
10{5AVAEKD Y 7 1@ 1,420 0 1,420 0 1,420 -
11| EWMA—bRE & 30 4 34 0 34 34
12 AEE (FAH) = 26 0 26 14 40 -
I3 EMAAE (B4 7=7-H) gL — & 1 0 1 11 12 -
4B AEE Gl 7z7z#) fx a 33 0 33 7 40 -
15| WA /N T R 51— N a8 26 0 26 14 40 -
16| EMAB Y 75— X & 43 0 43 0 43 -
17| ®BY 7H—Bars+ x & 40 0 40 0 40 -
18BN 1@ 19 20 39 0 39 -
19|3L75 25 H3 64 1@ 8 0 8 16 24 -
20|y & — & 17 0 17 0 17 -
21|82 B 12 132 0 132 0 132 -
22|87 B2 1@ 148 0 148 0 148 -
23|82 B3 1@ 110 0 110 0 110 -
24|877E; H 4 1@ 0 0 0 0 0 -
25| B (ST AZELL) M 5 1 6 0 6 -
26|FR CHEXRA VM) M 41 44 85 0 85 -
27|FMR (BAIH) M 0 0 0 12 12 -
28|BEWAEL 5.5%) 1@ 1 0 1 0 1 -
29|EMAEL 10%Y 1@ 1 0 1 5 6 -
30|EMAEL 1207 1@ 7 0 7 0 7 -
31|BEWAEEL 12kg 1@ 0 0 0 12 12 -
32|EMAEL 1284 1@ 8 0 8 0 8 -
33|EMAEL 1554 1@ 4 0 4 0 4 -
34|BEWABEL 8.5% 1@ 11 0 11 0 11 -
3BblHI (BBE BF) =88cm 1@l 2 2 4 0 4 -
36|BIxz (B FfEARF=294cm) =110cm & 8 14 22 0 22 -
U ECE R 1@ 4 0 4 0 4 -
38|k CEEPA) 1043ty b oy b 4 0 4 1,256 1,260 -
39(8t T 24~26cm 252 2 630 0 630 0 630 7
A0(8t T 25~27cm 30,8 2 420 0 420 0 420 7
A1|8tT 24~26cm 20,2 2 280 0 280 0 280 -
42|12 Y IEDTR 18ml 12 14 0 14 36 50 5
13|12 Y kDR T L — 18ml 1@ 250 0 250 0 250 5
MY X 1@ 0 0 0 30 30 -
45|27 U w TR — K A4 M 24 0 24 0 24 -
A6|FHEH Y T 500ml 1@ 2 0 2 10 12 -
47| M E 5t X & 1 2 3 0 3 -
48| M E 5t mh =) 5 8 13 0 13 -
AolfEsR/N v R PN 41,000 0 41,000 29,000 70,000 14
50| — 2L 1@ 10,110 0 10,110 0 10,110 102
5lla—2 ) (F—LER) 1@ 60 0 60 0 60 5
2|l xayFa—v Ny MM E 1@ 7 0 7 0 7 -
B3|l XxayFa—v 1@ 35 60 95 41 136 -
54| SRBMERET R b 4ATO— = 0 10 10 0 10 -
55| SEBM KSR X b FLrY = 0 10 10 0 10 -
56| — > /N — RIS 18 20 38 16 54 -
57|a—> Ry k 1@ 44 60 104 32 136 -
58| T ALE 451 30M ALY M 300 0 300 0 300 -
59| 3> /8% M 37 0 37 0 37 -
60[¥aA > (lBOEFR—ZD) 1@ 0 0 0 30 30 -
61|38 X35 2N 5 0 5 1 6 -
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Bkl |PAEEMOEE—ER
MKDIFERICEH T 21ILAIHBEICES T 2EEHRE. QD) DMALPRICMAINEEMTH B,
RERE | S%Emn P .
No. 2 % sz | w5 | BERER | ZFAE | A | s mﬁjg ;f;)
ExD | EF ) | @ (2) -

62|H A K 20k g &% 680 1,050 1,730 0 1,730 -

63[HE N> Ry —T#HE 2L 1& 2 0 2 0 2 -

GAEE /v Ry —TEE 800m| 1= 4 0 4 0 4 -

65EE /N RV —T7KKE 250ml 1@ 7 0 7 0 7 -

66|)8&E2s (7/La—ILEENFIE) H3 4K B 12 12 24 0 24 -

67 HEE (BHA) 1@ 36 0 36 0 36 -

68| HEEEzR (/7 —v—) 1@ 3 0 3 0 3 -

69 HEE (7R by /) 18L N 16 0 16 3 19 -

700E&EE (7/)La—)) 1.8L PN 0 0 0 1 1 -

T1EEE (77ra—iL) 1L PN 0 0 0 2 p) -

T2PEER (7La—)L) 500ml PN 11 0 11 12 23 -

BEEE7La—L (FEXTL — 500m | PN 94 0 94 0 94 5

TALEERA 7L —Hh b 500ml 1@ 11 0 11 23 34 p)

5 HEREE A EEE 1 9 0 9 0 9 -

6 EER~ Y b BER) X M 0 8 8 0 8 -

TR~y b (BER) 60cm x 90cm | #& 7 1 8 0 8 -

18 EER~ Yy & (EfmA) M 12 0 12 0 12 -

79|27 LA /85— PN 7 0 7 3 10 1

80[xav 7 F)55 PN 76 0 76 0 76 5

81z v~ F PN 83 0 83 0 83 5

82(xav 7 (B PN 0 0 0 30 30 -

83[= U v 2 0 60 60 0 60 -
84| FHh & 25131 PN 4 0 4 0 4 -

S EE =R > a NI PN 10 0 10 6 16 2

86|ENEXay S 2/ =Fyv—| XN 6 0 6 10 16 -

YEE =R TR EARY S| K 6 0 6 2 8 -

88| X/ —F v — PN 0 6 6 14 20 -

89| X/ —Fh—v 1 27 0 27 0 27 p)

WX/ —F—rF—2 10m PIN 27 0 27 0 27 p)

91|z / o 170 % 30 e 2 0 2 0 2 -

92(=x ./ a 170 x50 M 12 0 12 0 12 -
93(=/XF m17,19 PN 1 0 1 4 5 -

Q4| EIREE (7 A RY) PiN 0 0 0 0 0 -

95|t M 150 0 150 0 150 -

96| R ET FEE R N 3 0 3 0 3 -

O7[tKBst (H—~IILAX Ty F) =] 3 0 3 0 3 -

98| & AL 300x 780mm | #& 1,000 2,800 3,800 0 3,800 -

WP (RMEZ) 1@ 8 0 8 0 8 -
100(% > 2 (kEB) 20L 1@ 14 0 14 0 14 -
101|x > 2 (ER) 300L 1 14 1 15 4 19 -
102|2 > 2 (FER) 500L 1@ 0 3 3 0 3 -
103|REEH X R >~ FoIEF A 1@ 99 60 159 0 159 -
104|REEH Z AR~ zz 1 25 0 25 0 25 -
105|F v v h~ v PN 3 0 3 15 18 -
106|Y —iRy 7 2 (ZEAN) 1@ 10 0 10 0 10 -
107|#1 ) 3 0 3 1 4 -
108|7—7 (FmHL) 1@ 60 1 61 0 61 3
1097 =7 (E=—) 1@l 44 0 44 0 44 1
110|7—7 (PET—7: XX 5 ) 1 6 0 6 0 6 1
111|7—7 (BERKRNT—7) 1E13mm 1@ 8 0 8 32 40 -
112|7 =7 (BE ) 30M@ A /F8 1@ 48 0 48 0 48 2
113|177 (B4 ¥&EH) 30M@ A /F& 1@ 450 0 450 0 450 15
114|7—7 (B% E>7) 301N /%6 1@ 134 0 134 0 134 5
115|7—7 (BE &) 3018 A /#8 1@ 321 0 321 0 321 11
116|F%& (7o &—) M P 1,820 0 1,820 0 1,820 19
117|F% (7o &—) L p3 18,510 0 18,510 0 18,510 186
118|F% (7o &—) LL P 3,890 0 3,890 0 3,890 39
119|1F% (A~ F—) S M 4,700 0 4,700 0 4,700 3
120|F% (A >+ —) M M 18,000 0 18,000 0 18,000 9
121|1F% (A >+ —) L M 4,200 0 4,200 0 4,200 3
122|F& (EF) 10X A N 0 0 0 0 0 -
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No. 2 % e | | BRRE | SEHE | an* | max mﬁjg ;f;)

(FHET) | (E78E) (1) 2) -
123|F% (FF) 12N P 528 0 528 228 756 3
1241 F& (EF) 720 A P 720 0 720 0 720 1
125|F% (F2F) P 162 6 168 0 168 -
126|F&% (TEZ) S M 0 0 0 30 30 -
127|F% (FEX) M P 83 0 83 0 83 1
128|F% (TEX) L P 43 0 43 0 43 1
129|F% (TE=) LL P 20 0 20 0 20 -
130|ERE—%— (2> UKERA) wh L RER 1@ 4 0 4 5 9 -
131|EK KR Y b 1@ 1 0 1 7 8 -
132|BREa—F (ExBRER) H3 4K 1@ 0 0 0 2 p) -
133|BRa—F (EFFLRET—7I) 3inl PN 2 0 2 0 2 -
134|BFEa—F (EE) 10m PN 2 0 2 2 4 -
IR SN N=E 50m 1@ 2 0 2 0 p) -
136|BR N7 L0— R 9.5m 1@ 2 0 2 0 2 -
1I37[BRKFZ L3a—F (BA7K) 20m 1@ 3 0 3 5 8 -
138|BR N7 L23— K (Bhk) 30m 1@ 3 0 3 3 6 -
139| &= 1@ 9 0 9 0 9 -
140|757 >~ b & H & o8| @ 4 0 4 0 4 -
417> b oA b 10kg 1@ 5 0 5 0 5 -
1427 b Ak 20kg 1@ 10 0 10 10 20 -
1437 by x4 hxy o (R11.4kg\ ) 1= 2 0 2 2 4 1
144| B8 = Tk 51 S 1@ 9 0 9 1 10 -
145| %28 1@ 4 0 4 0 4 -
146|Eh e Tk panih 1@ 17 0 17 0 17 -
14T\ HFEBEAR L v ty b 8 0 8 2 10 -
148|Hr5t BEH S 1@ 8 0 8 3 11 -
149| &t prr-spesmelses|  {F 0 0 0 1 1 -
150|HF 5t BEFL 1@ 4 0 4 3 7 -
151|R5st B X iFEt 1@ 0 0 0 10 10 -
152| 55t FoLL - Bkl A 0 0 0 3 3 -
153| 34 M 800 0 800 0 800 p)
154 b LA (BhEREFEL Y M) 1@ 187 0 187 0 187 -
155| &t 24 2 32 0 32 48 80 8
156|F#l 25 2 238 0 238 0 238 48
157|F# 26 2 217 0 217 113 330 66
158| &t 27 2 22 0 22 268 290 58
159|F#l 28 2 70 0 70 40 110 22
160| &t 29 2 0 0 0 30 30 -
161|FE# 30 2 3 0 3 27 30 10
162| Rt e = M 2 200 0 200 0 200 1
163|R#theEr = CEREg=s 2 1,857 0 1,857 0 1,857 19
1642 X Y > — k e 200 0 200 0 200 2
165|lx > o BHRY () 10L 1@ 23 0 23 0 23 -
166|Mkl &> o BmRY - #iTE 20L 1@ 14 0 14 6 20 -
167\ K& > o (TR B85S 18LLL b 1@ 30 0 30 0 30 -
168|Kl 2> HY U ETE 10L 1 1 0 1 0 1 -
169Kl 2> HY U ETE 20L 1@ 18 21 39 0 39 39
170|BARl 2 > o B8 TmR> 7 PIS 16 0 16 2 18 2
171{/N—*% 2 M 1@ 12 0 12 0 12 -
172l —% % 7L I 2 0 p) 0 2 -
173l —% % Eh T 1@ 3 0 3 0 3 -
174{/N—% 2 EN S 1@ 12 0 12 0 12 -
175(/8 4y 7L 1@ 2 0 2 0 p) -
176(/84 12L 12 7 0 7 0 7 -
177(/8 4y 13L 1@ 10 0 10 0 10 -
178| /x4y 15L 1@ 14 0 14 1 15 -
17984y 20L 1@ 23 0 23 0 23 -
180|# Bk 1@ 2 0 2 0 2 -
181| 20| 51& A &% 4 0 4 0 4 -
182|#EAEl H4a4 0 (BF) 304%/%8 1@l 3,780 0 3,780 0 3,780 16
183|H&K H4a40 BESAL) 30# /%8 1 180 0 180 0 180 p)
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Bkl |PAEEMOEE—ER
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RERE | S%Emn P .

No. 2 % e | | BRRE | SEHE | an* | max mﬁjg ;f;)

(FHET) | (E78E) (1) 2) -
184|##F H4a4n (B5%) 60ME A /F8 1@ 10,140 0 10,140 0 10,140 43
185|H&K HA4n0 (BEE3IZ) 3018\ /%& 1@ 720 0 720 0 720 1
186|/¢L v k = 0 0 0 20 20 -
187/ H— 1@ 5 1 6 54 60 -
188| &S (BEERNYEER) No.1~200 | #& 300 0 300 0 300 -
189[ K 7= 5 M 15 20 35 0 35 -
190{ L 7= Dix M 18 20 38 0 38 -
191l 7= % e 22 20 42 0 42 -
192 7% ) M 9 20 29 0 29 -
1937 % FLY /5% 6 0 6 0 6 -
194| 7 — v AN — 2 0 0 0 0 0 -
195| K 20L 1@ 10 0 10 0 10 -
196| NE&R (EER) 18L 1@ 30 0 30 0 30 -
197|727 (RERRY) ZiN 6 0 6 4 10 -
198|773 ChEZZ7Y) RIS 15 0 15 0 15 -
19|75y (Fvyx75Y) PN 16 0 16 0 16 -
20017 ) =% —sXy 7 (L) 128N i) 1 0 1 0 1 -
2017 ) —H—s%y 7 (L) 24F N i) 1 0 1 0 1 -
202|770 =Y —s%y 7 (L) 128N i) 1 0 1 1 p) -
2037 —>—k 10 x 10m M 253 0 253 0 253 -
204| 70— — b 3.5x5.3m M 0 0 0 50 50 -
205] 7L —>— k 3.6 X5.4m M 0 0 0 1 1 -
206 7 L—>— b 5.4 x5.4m mW 11 0 11 0 11 -
207| 7L o M 4,200 0 4,200 0 4,200 -
208| 7 L O v A 5% 2,720 0 2,720 0 2,720 -
209[7LavF—/c— 8 4 0 4 6 10 -
210|787 — & 4 0 4 0 4 -
211[~T7Fx v v 7 M 9,300 0 9,300 0 9,300 5
212| 2 —s— K F )L 2008 A 1@ 40 0 40 0 40 -
213 F A Ly b R—s3— 2A |5y 7 210 0 210 0 210 -
214 F A Ly b R—/%— 51& A ISy G 0 0 0 0 0 -
215| Ry b (EHZITY 7=7=H) = 3 0 3 0 3 -
216~ X v b 1@ 12 0 12 2 14 2
217|~v X b (BHRE~—7) 1@ 0 0 0 12 12 -
2187 Ry VAT 4w a ERAA ty b 20 0 20 0 20 4
219|f5ET & M = 50 720 770 0 770 16
220|BFE T & L = 50 780 830 0 830 17
221|fhETE LL = 50 0 50 0 50 1
P22|BFEY v v — (BF) S =i 18 0 18 0 18 1
223[p5EEY v N — (EF) M = 10 0 10 0 10 -
224|f5EY v v N— (EF) L = 18 0 18 32 50 5
225 v v — (BEF) LL = 18 0 18 32 50 5
226|fHEA AR v L x 105 = 10 0 10 20 30 3
227|BFEX K v LL x 10%& = 30 0 30 10 40 4
228|BHE XK 3L x10%& = 39 0 39 0 39 4
229|phEF LS S P 100 0 100 0 100 1
230|BFEF L M P 100 0 100 0 100 1
231|BFEF & L Py 100 0 100 0 100 1
232|phEF L LL P 100 0 100 0 100 3
233|BFEAA v F—V v I R M 2 0 95 95 115 210 -
234|BFERAA v F—V v IR L 2 0 90 90 190 280 -
235|fFEABA v F—V v IR LL 2 0 0 0 210 210 -
236 (1) PN 25 0 25 0 25 4
237\ (PS5 RFv7) PN 24 0 24 0 24 1
2384 R & 0 0 0 10 10 -
239 B & AR M ) 200 4,700 4,900 0 4,900 49
240 |5 AR L = 6,900 1,500 8,400 0 8,400 84
241|BHERR XL = 5,500 7,700 13,200 0 13,200 132
242 (B5 R XXL = 500 9,600 10,100 0 10,100 101
243 (BE AR & R 5 1B IR M 1 0 1 1 p) -
244]H— = 20m 1@ 3 0 3 0 3 -
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Bkl |PAEEMOEE—ER
MKDIFERICEH T 21ILAIHBEICES T 2EEHRE. QD) DMALPRICMAINEEMTH B,
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No. 2 % e | | BRRE | SEHE | an* | max mﬁjg ;f;)

(FHET) | (E78E) (1) 2) -
245 — = 50m 1@ 0 0 0 4 4 -
246|F—2 1) — L $E7K 17 0 17 0 17 -
247 F—2 1) — L BEAT LY < 12 1 13 3 16 -
248|7 K& B (BEA) 1 20 0 20 0 20 -
2494 B4 RIS 4 18 22 0 22 3
A EE 90L M 84,190 109 84,299 0 84,299 281
251|H Y ~—)L 90L & 255 0 255 0 255 -
252| R U ~—JL ) 45 1@ 3 0 3 0 3 -
253|774 Fih— K fhe Al = 2 0 2 0 2 -
254|774 bR —F EEY = 4 0 4 0 4 -
255|T7A4 hiR— KA LA H— 1 6 0 6 0 6 -
25674 b h—K~—H— Din RIS 18 0 18 0 18 -
257 R 74 hR—K~—Hh— 2 N 32 0 32 0 32 -
258| Ry REHE & 19 0 19 1 20 -
259| Ry RER/SFFE/ > R RIS 17 0 17 2 19 -
260|R > NFEHE A KLy & PN 0 10 10 9 19 -
261> v o XF PN 51 0 51 0 51 -
262|~ =z %2 (N95) M 8,600 4,320 12,920 0 12,920 14
263|277 () M 4,000 0 4,000 0 4,000 2
264~y b (GBY IED) OL8 /54 2 0 2 0 2 -
265 | fEAFHE (KENWOOD) & 10 0 10 0 10 -
266|Ef7H% (HORIZON) & 9 0 9 0 9 -
267| AT 4 HIL_—IL 40L @ 280 2,000 2,280 0 2,280 -
268|E%H BR4A47T | & 4 0 4 0 4 -
269|EvF—L v F 1@ 10 0 10 0 10 -
270[®h A 1@ 2 0 2 0 2 -
271 |RaEF| 25kg &= 4 0 4 0 4 -
272|714+ ([EE:4T) H3 4K 1@ 6 0 6 1 7 -
273|714 + (EHELT) 124K PN 26 0 26 3 29 -
274|714 b (F&kt2e LED) = 0 0 0 1 1 -
275|714 b (GBEAT) H2 24 ZiN 12 20 32 5 37 -
276|514 F (5> %>~ LEDZ A h) =) 8 0 8 0 8 -
21774+ (%) H1 4K 1@ 7 0 7 4 11 -
278|5 v H—R 7L — 5 PN 44 0 44 0 44 p)
2197 v h—RT L — iR N 48 0 48 0 48 2
280|5 v H—R 7L — S RIS 3 0 3 0 3 1
2815 v Hh— 7L — 2 RIS 56 0 56 0 56 2
282| 7 v h—RT L — =] N 2 0 2 0 2 1
283|5 v H—R 7L — 1% N 39 0 39 0 39 2
284|5 v 7 1@ 0 0 0 1 1 -
285|AHM (FAR/ AP —7) M 40 0 40 0 40 -
286 4HE (BRER) 1 528 0 528 0 528 -
287[L Y v —< v b 1 5 0 5 0 5 -
283[m—7 (PP: Ry 7oL &) 1@ 0 0 0 6 6 -
289|m—7" (+5) 50m 1@ 2 0 2 10 12 -
2900 —7 (+3) 100m 1@ 0 1 1 0 1 -
291|m—7 (EHH) & 3 5 8 0 8 -
22| A ET> v M = 660 0 660 0 660 11
293[R ET> v L = 900 0 900 0 900 15
204\VETY v LL = 300 0 300 0 300 5
295|71) — 7 M 8 400 0 400 0 400 -
296|711 — 7 L #H 600 40 640 0 640 -
27| c X ISRy & 100/ A V) M 600 0 600 0 600 1
208|&fR/ Sy (5470 —) 30%& & 1,140 5,460 6,600 0 6,600 110
299|F FL2 M P 39 0 39 0 39 1
300|FE F4L L p3 67 0 67 0 67 1
3017 —Lhn— (=bB—7 - KERIA—7) M PN 5 0 5 5 10 -
302|7—shn— (= ha—7 - kERI/O—7) L P 14 0 14 0 14 -
303[7—nhn— (=rE—7  kERIO—7) LL P 1 0 1 9 10 -
3047 — Lh/N— P 106 0 106 0 106 -
305/ CKERRH) 1@ 17 0 17 0 17 -
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Bkl |PAEEMOEE—ER
X(DIEARICEHT21LBIAREICB T 2HEHE. QIF)DHALEIIIA I NI EMTH 5,
REHE | SN | ||
No. s % s | B | EERER | ZFAE | s | max "’[‘l)ﬁqj; (;:%)
(B#%®) | (ZF8) (1) 2) ~
306 7ER) () 16L 1 0 0 0 0 0 -
30798 (R) 5L [E 0 0 0 0 0 -
308| REBENR X 18] 10 0 10 0 10 -
309| REBHIR i 18] 10 0 10 0 10 -
310[L > F 1 1 0 1 0 1 -
LA 18] 203 0 203 0 203 -
312| =y F 18] 3 0 3 0 3 -
313[ K5 A /x— 18 13 0 13 0 13 -
314|FREy — BT —7 18 8 0 8 0 8 -
315| % /¢ 1 1 0 1 0 1 -
316| W& BT 4 XK~y b & 2 0 2 0 2 1
317|z v r— 74 18] 254 0 254 0 254 -
318 L AL v F (R L v F) 1 0 7 7 0 7 -
319xemr—zasy b4 F5—09 (h—200) 1] 0 3 3 0 3 -
320|684 v b 1 0 6 6 0 6 1
321| &R/ <Y M 18] 0 20 20 0 20 1
322| &R/ XY L 1 0 20 20 0 20 1
323| &R/ LL 1 0 10 10 0 10 1
324 kB8 L HE tyh 0 0 0 2 2 -
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